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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

¸˝√√±˚˛fl¡ ¬Û±Í¬Sê˜ ( Subsidiary ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
ø¡ZÓ¬œ˚˛ ¬ÛS ( S-2, SZO-II: ZOOLOGY-II ) 

¸˜˚̨ – øÓ¬Ú√√ ‚KI◊±¬ Û”Ì«̃ ±Ú – 100 

Time : 3 hours Full Marks : 100 

[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈√øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 20 × 2 = 40 

 [fl¡]  õ∂Ê√±øÓ¬¬ı˛ ¸—:± ø˘‡≈Úº ëÊ√±øÓ¬¬ı˛+¬Û øˆ¬øM√√fl¡ õ∂Ê√±øÓ¬ 
Ò±¬ı˛Ì±í ¸•ÛÀfl«¡ ’±¬ÛÚ±¬ı˛ ˜Ó¬±˜Ó¬ ¬ı…Mê√ fl¡èÚº õ∂±Ìœ 
Ú±˜fl¡¬ı˛ÀÌ¬ı˛ ÚœøÓ¬¸˜”̋ √√ ¬ı…±‡…± fl¡èÚº flv¡±˝◊√√Ú (cline) › 
ŒÙ¬Ú± ( Phena) fl¡±Àfl¡ ¬ıÀ˘ ø˘‡≈Ú º 

   2 + 6 + 8 + [2 + 2]   

 [‡¡]  ¬ı±dÓ¬ÀLa¬ı˛ ¸—:± ø˘‡≈Úº ¬ı±dÓ¬ÀLa¬ı˛ ”̃̆ ¡ Î¬◊¬Û±√±Ú&ø˘ 

’±À˘±‰¬Ú± fl¡èÚº ø‰¬S¸˝√√ ¬ı±dÓ¬ÀLa ˙øMê√õ∂¬ı± √̋√ 

’±À˘±‰¬Ú± fl¡èÚº ø‰¬S¸˝√√ ‡±√… ø¬Û¬ı˛±ø˜Î¬ ¬ıÌ«Ú± fl¡èÚº  

   2 + 6 + 8 + 4    

 [·¡] ˜± ◊̋√√ÀÈ¬±fl¡ø`ò¬˚˛±¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº         

¸—Àé¬À¬Û ˝◊√√À˘"™√√Ú ¬∏C±kÀ¬Û±È«¬ Œ‰¬˝◊√√ÚøÈ¬ ¬ıÌ«Ú± fl¡èÚº 

Œfl¡±¯∏¬Û√±«¬ı˛ ˜Ò… ø√À˚̨ ˙fl«¡¬ı˛± ¤¬ı— ˘¬ıÌ (sugar and 

salt) -¤¬ı˛ ¬Ûø¬ı˛¬ı˝√√Ì ¸•ÛÀfl«¡ ¸—øé¬5 È¬œfl¡± ø˘‡≈Úº  

   8 + 8 + 4 

 [‚¡] ’ôL–é¬¬ı˛± ¢∂øLö fl¡±Àfl¡ ¬ıÀ˘ ∑ ’¢∂ ø¬ÛÈ≈¬˝◊√√È¬±¬ı˛œ øÚ–¸‘Ó¬ 

√̋√¬ı˛À˜±Ú&ø˘¬ı˛ Ú±˜ › ˜±Ú¬ıÀ√À √̋√ Ó¬±¬ı˛ fl¡±˚«±¬ı˘œ ¬ıÌ«Ú± 

fl¡èÚº fl¡±¬ı«Ú-Î¬±˝◊√√-’'±˝◊√√Î¬ ¬Ûø¬ı˛¬ı˝√√ÀÚ ø˝√√À˜±À¢≠±ø¬ıÀÚ¬ı˛ 

ˆ”¬ø˜fl¡± ’±À˘±‰¬Ú± fl¡èÚº Rh Ù¬…±"√√¬ı˛ ¸•ÛÀfl«¡ ¤fl¡øÈ¬ 

¸øé¬5 È¬œfl¡± ø˘‡≈Ú º  2 + 8 + 6 + 4 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 12 × 3 = 36 

 [fl¡¡] ¬ ìDNA Œ¬ı˛øõ≠Àfl¡˙Ú ¬ÛXøÓ¬øÈ¬ Œ¸ø˜fl¡ÚÊ√±¬ı˛Àˆ¬øÈ¬ˆ¬î 

— ˜ôL¬ı…øÈ¬ Î¬◊¬Û˚≈Mê√ ø‰¬S¸˝√√fl¡±À¬ı˛ ø¬ı¬ı‘Ó¬ fl¡èÚº 12     
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 [‡¡]  ”√̄ ∏Ì fl¡±Àfl¡ ¬ıÀ˘ ∑ ¬ı±˚˛≈”√̄ ∏ÀÌ¬ı˛ ≈̃‡… fl¡±¬ı˛Ì&ø˘ Î¬◊À~‡ 

fl¡èÚº øfl¡ˆ¬±À¬ı ¬ı±˚˛≈”√̄ ∏Ì øÚ˚˛LaÌ fl¡¬ı˛À¬ıÚ∑ 

◊̋√√Î¬◊À¬∏C±øÙ¬Àfl¡˙Ú øfl¡ ∑ 2 + 4 + 4 + 2   

 [·¡]  ø¸-’±ø‰«¬ÀÚ¬ı˛ øÚÀ¯∏fl¡ ¬ÛXøÓ¬øÈ¬ ˚Ô±˚Ô ø‰¬S¸ √̋√ 

’±À˘±‰¬Ú± fl¡èÚº 12     

 [‚¡]  DNA-¤¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ ·Í¬Ú ø‰¬S¸˝√√ ø¬ı¬ı‘Ó¬ fl¡èÚ ¤¬ı— 

ø‰¬S¸˝√√ øÚÎ¬◊øflv¡›ÀÊ√±˜ ˜ÀÎ¬˘øÈ¬ ’±À˘±‰¬Ú± fl¡èÚº  

   6 + 6     

 [„√√¡]  EÀ¸±øÙ¬˘±¬ı˛ ø˘e øÚÒ±«¬ı˛Ì ¬ÛXøÓ¬øÈ¬ ’±À˘±‰¬Ú± fl¡èÚº  

   12 

 [‰¬√√¡]  ŒÙ¬À¬ı˛±À˜±Ú › õ∂±ÌœÀ√¬ı˛ ’±‰¬¬ı˛Ì ¸•ÛÀfl«¡ È¬œfl¡± ø˘‡≈Úº  

   12 

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 4 = 24      

 [fl¡] Ê√œ¬ı ø¬ı¬ıÓ«¬ÀÚ¬ı˛ ¸—Àù≠ ∏̄ ˜Ó¬¬ı±√ ¬ı…±‡…± fl¡èÚº  6    

 [‡] ¬˜èˆ”¬ø˜¬ı˛ õ∂±ÌœÀ√¬ı˛ ’øˆ¬À˚±Ê√Ú ¸•ÛÀfl«¡ ¤fl¡øÈ¬ È¬œfl¡± 

ø˘‡≈Úº 6       

 [·] Ê√±Ó¬œ˚˛ ¬Û±fl«¡, ¸…±—‰≈¬˚˛±ø¬ı˛, ¸—¬ı˛øé¬Ó¬ ¬ıÚ › 

¬ı±À˚˛±ø¶£¬˚˛±¬ı˛ ø¬ı˛Ê√±Àˆ«¬¬ı˛ Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚº  

   6     

 [‚] È¬œfl¡± ø˘‡≈Ú – 3 × 2 

  (i)  β -Ô…±˘±À¸ø˜˚˛± 

  (ii)  ŒÙ¬ø˘øÎ¬¬ı˛ ø¬ıô¶±¬ı˛ º      

 [„√√¡√√] ’…±˘±ÚÈ¬À˚˛À¸¬ı˛ ·Í¬Ú › fl¡±Ê√ ¬ıÌ«Ú± fl¡èÚº 4 + 2  

 [‰¬¬] ˘…±•Û¬ıË±˙ ŒSê±À˜±ÀÊ√±˜ ¸•ÛÀfl«¡ ¤fl¡øÈ¬ È¬œfl¡± ø˘‡≈Úº   

   6     

 [Â√¬¬] ˆ¬±¬ı˛Ó¬¬ıÀ¯∏« ŒÙ¬ø˘øÎ¬¬ı˛ ø¬ıô¶±¬ı˛ ¸•ÛÀfl«¡ ¤fl¡øÈ¬ È¬œfl¡± 

ø˘‡≈Ú º 6    

 [Ê√¬] ¸—¬ı˛é¬Ì fl¡±Àfl¡ ¬ıÀ˘ ∑ ◊̋√√Ú ø¸È≈¬ › ¤' ø¸È≈¬ ¸—¬ı˛é¬Ì    

øfl¡ ∑  2 + 4 
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( English Version ) 

1. Answer any two questions  : 20 × 2 = 40 

 (a) Define species. Write in your own words 

about 'typological species concept'. 

Discus the principles of animal 

nomenclature. What are cline and    

phena ? 2 + 6 + 8 + ( 2 + 2 ) 

 (b) Define ecosystem. Discuss the major 

components of ecosystem. Describe 

with diagram the energy flow in 

ecosystem. Discuss food pyramid with 

diagram. 2 + 6 + 8 + 4 

 (c) Discuss the structure of mitochondria 

with a neat diagram. Discuss in brief 

about the electron transport chain. 

Write a short note on transport of sugar 

and salt molecules across cell 

membrane. 8 + 8 + 4 

 (d) What is endocrine gland ? Discuss the 

functions with names of the anterior 

pituitary secreted hormones. Discuss 

the role of haemoglobin in carbon 

dioxide transport. Write a short note on 

Rh factor. 2 + 8 + 6 + 4 

2. Answer any three questions : 12 × 3 = 36 

 (a) "DNA replication is semiconservative." 

Delineate the comment with suitable 

diagram. 12 

 (b) What is pollution ? Mention the 

principal causes of air pollution. How 

can you control air pollution ? What is 

eutrophication ? 2 + 4 + 4 + 2 

 (c) Discuss the process of fertilization in 

Sea-urchin with a suitable diagram. 12 

 (d) Describe with suitable diagram, the 

chemical structure of DNA and discuss 

the nucleosome model with diagram. 

   6 + 6 

 (e) Discuss the sex determination in 

Drosophila. 12 

 (f) Write a note on pheromone and its 

behaviour. 12 

3. Answer any four questions :  6 × 4 = 24 

 (a) Describe the synthetic theory of animal 

evolution. 6 

 (b) Write a short note on adaptation of 

desert animals. 6 
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 (c) Give a comparative account of national 
park, sanctuary, reserve forest and 
biosphere reserve. 6 

 (d) Write short notes on : 3 × 2  

(i)  ! -thalassemia 

(ii) Distribution of Felidae.  

 (e) Describe the structure and function of 

allantois. 4 + 2 

 (f) Write a short note on lampbrush 

chromosome. 6 

 (g) Discuss about the distribution of 

Felidae in India. 6 

 (h) What is conservation ? What are meant 

by in situ and ex situ conservation ? 

    2 + 4      
    


